Rul i G =

U N D RS

205 KRBT AKX TKESKESRFE K

- — ‘ —_—————————— —————— —— o = 50 250 VU 3.9%0 3406 A NN P | == - - = >@2%’3f37 7—”&(gr" —
o 204015Q 58.641 D Wtk 17 = 1-120 { et —— — SR %5970‘21* e ﬂjg,sgrrzfamﬁs&wf = s X 930097~ 98750
_ L & \ . T v oo | K — N
18 kS . 204021 1-120-6 . ®)< (1.36) 1_12(:;0 VU 30%  50.32 (1.08) /.@, (1.13) ‘ 250 VU 32%0  44.99 (1.22) ® A K E
—— @ %(:HMA%F T d00 oy 2040200 PRT 204012 788 O HP 53 % —— e a0 = p0a019,5905 - 1-120-3 99199 204010 2 1-171-1 »oi010 1-171-1 P 20405b g1 193001,
—@® : 300 HP 63% 5877 (14— O 1 o o o ‘ B
Q ; - ¢ x~° & /8401858 " Py (_D" | @)1 50 HP—S g 496 (106 E \ am o oso P ek —desr (3D QL a0 250 HP Tt 4060 ,%—1.4%
J 1 2 - #—58. ) 25%@? 59714 i 59738 60.025—4
1-120-6 | | + * 0 25— R Q159,364 “ 7 2
ap : : 4 ‘ : z
22 o @41 | 350 HP 39% 793 @ e N (3 J— 3 S dls | E i
3|8 [ ‘ 58.112 S s / ‘ = - El 4 N
16 2 il | o 1 z — J il
< ]
‘ N 2
< o ™
s 18 P 12 E & »
£ ] dE g
i T s 215 | 204 193
- — fo
= - = b
3 7 & R B 2le
< o N = g
3 2 0 ¢ 216 | 205 | 194
2|3 2 18
© @ — |
2 % |8 18 =
Z | o S § | =
I N H—
B ol 217 | 206 195
8 - @ .

67-35

(.12)
57.827
1-180

& O
(1.70)

32.62

1-172

350 HP 6.0%0

— 0.0 ————— TH00HP 1.6Y%

N|
’

e
RN A

|| g L1001
($;]
3

25
1.52 | . J FL 15“
i o 1-17
_ | ‘ N\ Sy oy © | 0BT YER—L
3 e ‘ | N 59,087 ® | 18vohk—
. = Ne 3 1 S8 L ; O | 287 hk—0
. = | | O | 3= vh—IL
My | | ; ] v
£ I | R - 7| 13 14 O | 1832 k—IL——60x90
R L — T A ® | H2E8<v2hk—IL—120%x90
s 2 :‘ = ] O | MAERUAR—IL (AE2 0 cmAR)
(s 26 ) \ A f 6 ® | hAgTUR—IL (AE25 cmAR)
. € I © | MAETw—IL (AE3 0 c mAM)
; : N ! ! 1 ~ s ~ Z A
¥ 205606 1-161 26 ) ! 2 - 2l | ® MaOET oEFR—IL (RE3 5 cmARE)
L —»fo)—L 209 700 HP0,-3%0 )i 32.20 (474) _ | 8B s - ® MOFE<ER—IL (REFE4 0 cmAR)
S -~ . 5 : E D | TlE El AT UER—IL (RE4 5 c mAR)
; % . - aa 205021 o 1-‘% g g g %,2 . @ MAFETAR—IL (RES 0 c mAR)
' - J\‘\ /// o 2 57.122 1100 HP  1.3%, 72.58 § = é\% © MREY AL (RES S o mA)
. ) [ ] —_— = : (466) [P0S4~ T 5| < © | msagTIHR—IL (RE6 0 cmAR)
3\ i = 57029 7 " g 5 © | MO k—IL (NE6 5 c mAW)
o = " 2 S E— R i —— @ MhaOFE<oHR—IL (RTE7 0 cmAR)
8 0% g = ol 4 %
= 163 . 14 g © | MO k—IL (RE7 5 c mAR)
HP 7.3%o 26.5 (2.28) | |- 250 HP||11.2%o0 ) b ‘\‘ | 17 T @ ’J\D?§7 >'-h_)b (W?%S Oc mF':]ﬁ?)
2 60.941 - ,; % | 18 NOFEIHR—IL (HE8 5 c mHAR2)
> |
2 1 ‘ éT | o &) PR vR—IL
i) |
i i s | — — & | REBLIH—L
- |
26.37_(1.96) ® 0 & E \‘ D 20 | D BT hk—IL
61259 1 =] 1! e \ N
I X A - ° m<hk—IL
%\\ : ; x [; ° NEES
El® = ] I- o | BEmEEKET
2( s
s AR TS
| | 9 9 o ERRFAEKET
| T P =N
la | = 5
3 =+ @ BRFET
: 2 D ® | FHERFET
\ o
s \ S .~ R
\ ; ‘ © 300 U 12-70-1
3 |s N8 HP 16.0% 530 | (18 N NS
VU 31.0%  12.20 99(1.89) 4 60.943 Il £ owm ow R + I
o (B BEY A £ % L
\ N m = REE 2 T
! o | ¢ N (1.49) »250 HP 21.3 %0 10.35 ( 1.40) :
|k l —-®
= E . b 1-174 4 B —  49.367 - 49.147 2
: ~ 5 ek } =
“ " 7 [3201 (14 & L ® E 3
R g — E it S OB b -
o 01.399 S e < s +
24 ) ° = > B FE >
= £ N / b i 5 -
S n O.l ~ [ 5 it
s Y 5]
T 2
16 — ] : ~ i ?,
SR, S 3203, (1.46) (-9 - 250 HP 9.3% I:X "’ = 3
B \j1'f7724 24 61635 \ZiDﬁELj S N Sk 194008 “ TN
s S =l N ©O))] .
- N © . - Y \ el I
30.88 I (]_14}._\ - = S : jﬂ 23 (?.18) . e
REEIDRNY- T : e
D
205031
| @

7o

)
=

1

1-143 —

F

oLo LY
[ (08®) zsve

|.

r{?
-

/>

L/J e —

: 1950077
| 262 2170119 | 1-138 I J;);JIQ (3.49) 900 HP ‘ 34% 46.12 (353) | o Tl (3.04)
m L — OHP30% 6145 206037 . T I [ 58,245 | = 59.136
’ = 99.662 (259) /N 1- 900 HP 3.0%0 = & - ® B
= - — > @259 5, 138 o . 1 S — 1% LI\

1:500 205




